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D) (C) (8) | A) [ QUESTIONS Q-1
ol | Fienft | O (iporthn | Ls *'/‘f”fH’”"'l’L’f%J"b@fJ{JWUJJ )
) : ) . Beincreased | If the mass of the bob of a pendulumiis Kibw
he decrensed | B€ decreased (c...-'/q i el ¢ L, )
by 1 faclor of , sy o factorof | inerensed by a factor of 3, The period of the
by a lu,lul of J Remans Lhe ) - 4
2 SO 2 pendutam’s motion will
ub e 2 - 3 F
/s’iJ(}L Salay by )gfsJ(_fu s asle _r_l‘_._dl/J_yflJ,‘);:rU 2
Waler waves l(ﬂuhu waves | L ipht waves Sound waves Which is an exumple ofa lonpitudinal witve!
J/);JJ/)(U"’J_{’ J~ //:lL}Jl (JfJJJlJ,A:_' J,’:,/u)lu | ¢o l;'L ]J‘/)u//u} \Jgf{ 3
Uprightand | Inverted and | Uprightand Inverted and | Which type of image is fonm,d by a Convex Lens on
Virtual real reul Virtual ascreen? B R
_:/-’lg_»xu(v counif | xSy | lnlllS7 ?q_uu'rgmgqu(wwg/ 4
74 Z Ay e LA Z o2 gt 7 dg i1 The coulomb’s law is valid for the charges
Stationary Stationary | Moving and Mpvin{; and | which arc
and point and lerpe non—point point charpes
 charpes | sizecharpes | CHARES L)oo S -
f//ﬂ@L"/[u‘/(}A uﬁc..,u"/ul,6 ﬂ_f‘ 5
36V o\ 18V LAY Whot 15 the voltage across —e b '.mb;_,ﬂ)l
16 0 resistor when 3A of current passes through it _{
| d‘y[/" J‘;f(_,'.*:?d:)f" d:‘rﬂ / v“u /dh..,.._..,ua/hd Q,//)‘JJ Uil '\.,(. C‘f 6
Will be zero \ Remains the ‘| Deoreases “ U‘L ¢ U”““(l‘?g“’;’mﬁ accd lf/”U"c’——/Jl ’/'J!’s—
| same ] pl.lpl.,l\d't“lﬂl *E./‘( uylblls;ﬂL lu [ increases, the lorte on wire.
\ B=llA= 3=0LA=0 B=lnnA=1 P50 A0 f[dh 0 u._,,,iJ,_, w7
A=1ORB=1 | _A=00RB=0_ _A=landB=l | _A=0and B=0 | The output of a NAND gate is 0 when
L /)f_f F1oe) il (uy_“fd' \a(f /WIJL/L/‘_/ L/J/_JJJ.NM &
/" ; 5
| o From which of the following we can get information
internet Computer I'cacher 3ook almost about ever thing - R
i a4 . s s . S e
c)J‘"J’.’/:Kﬁf (f/:b/r: ocru,u/,ﬂf a b/de' SO AT e senilur |9
MNuclear o Nuclear Nuclear Bnerpy coming from the Sun and Stars is supposed
Transniutation Radiouctivity licion fission 1o [,b,ﬂ“ lL,bulL ()1 B
) Co i3 6
1.36 1.00 1.31 Refractive index of icc is. e SR 8D | 10
on PTG PGS g_dg,nf e Qb o l,g)u/u‘f/fusb_,//'w (A | 1
; <f e ﬂ What \vould happen to the loudness of sound
Mamw ol | BeRmRSEg | Liuiteses Increases with increase its frequency.
them unchanged
J\M’Iu’\//’/bfm_fl.lfc;;.x)’b(j/ld.{;/'uui/‘g! 12
1.6 x 1077 Electron volt is also a unit of enegry byl e tbr
mul n mnnlc and Ny Nucleur Phy SICS ¥ wlm.h n~._cqu_:l»li!n‘_.____‘__m‘_ o
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Answer bricfly any Five parts from the followings. 5%2=10 —&//// uUi’/"’;‘{:l]l@Lc,ch,u‘J)bu _2/()!/
Define restoring fm'cc.._L[/L.,é)/‘.’.(;((f/)‘_(‘///:‘”@ Gi) Defing wave motion. f' - Uu ) ]
e time period ol Simple Pendutam is 1.99s. find its frequency. l,f/(}‘”u’wf/uuum 99\»//%/. fads S Gid
What is meant by Intensily of Saund? ~_:1/L~' 2 ul/._)i u ':vl (iv)
what is meant by audible Imqm.nmyhmECJ .‘,»l/l// u,wur = .._/L*JL- ()
Define reflractive index. wu"" .y J w‘rE/J (vit) Define Convex mirror. -~ JJ/‘)JJ/U/C)J (i)
Pescribe the sign convention of focal lenpth for Lens. «L/:‘) Yool n/;,mc"d’:’d/) (viiD)

Answer briefly any Five parts from the followings. 5x%2=10 _L_[//,/-'czklﬁ/‘;;ZJZI@[;o()fcgﬁg)_’i(yu -B/Jlr
Deline clectric power and wrile its unit, _‘Eﬁf&-_,:b/kﬂ/,]:.;f_,;/ﬁJJ,.L'J/:Q] @
Seate Joule’s Law and write its formula. GJr/Ub/JU)I’f/J/jJu)G ' Ji’ (i)
Define electromotive force and writc its unit. _Jw LY s B J/"JJJ:’)’,V‘:/QI (iii)
What is meant by mutual Induction. “c_)l/U/c,“_erJ’/ €] Define Lenz's Law. _&J/“ Jg)ib LA G
Define OR gate and write its truth table. _ﬁgl_)’ IS Ze J/’J Jor ()

(Lf Aiey (i)

Wirite the names of logic operations.

Draw a symbolic diagram for NAND gate and write its fruth table.
Answer bricfly any Five parts from the followings. 5u2=

Define clectric field intensity and write its unit.

Deline capacitance and write its unit.

Write two uses of capacitors.

How are light signals sent through optical fibres?

Define internct and write two services of fnlernet.

What are browsers? Give their two examples.

What is meant by [sotopes? Write the pames of Isotopes of hydropen.

Write the causcs of had( ground radiations.

Note: Attempt any Two Questions.
Deline shimple Hlannontc Motion. Prove thal Motion of Migss
attached to a spring is simplce harmonic motion. Also write down its
Time period cqualion
A point charge of +2C is transferred from a point at potential
100 V to « point al potential 50 V. Whal would be the encrgy
supplicd by the charpe?

Deline electromagnetic induction and cxplain it with example.
An object 30 em tallis located 10.5 cm from a concave mirror with
focal length 16 em Find -

(i) Where is the imape located G How high s it?

What is Nuclear Transmutation? Explain Beta Decay with examples

A corrent ol 3mA is tlowing through a wire for I minute. What is the

charge Nowing through the wire.

9x2=18
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information ahout cve l>/ 8] \lllg-

Absorb S Rclcus-c dr Absorh U()’ Release U5 | When a heavy nucleus splits into two lighter nuclei,
chemical chemical nuclear encrpy nuclearenerpy | (he process would
CnC['i;y Cl]CI'gy
iz 7 D T R (TR 5 e
i F et JJ/JLVf Lj”g)@;l,l/ DAY P _‘:‘;d,n.:/,fllr"ﬂ J/_- = 2
Inhoth e and |y yeparticle | In Beparticle | Inu=particle. I“l;!r; less penerating power,
[3 purticie Py
. T & ek vy’
/'{_j’{-l_‘-Ju i /,/_‘/l iy . ﬂr.g,/idu” U 3
Volt-ampere Farad Ampere Volt 7, ic mm of capacitance is
0.60 Hz 0.50 Hz 0.40 Hz 0.30 Hz 4 S jinsl T=1, 99{0 4
4 Gt 4
1§ .99 sce then fregueney s
T o . ¢ ’ Il g ") . '
f"-'JZ," j::b(-}._./:[ s ,{/ s 5 In a vacuum, (= VQ{..del.g;u@—?;/, Irl/u’Uﬂ 5
Same v
waveleng(h Same same Same speed all electromagnetic waves have the same
amplitude frequency
sddh Gy P gL CUleee) Faen 550807 |6
Amplitudc Wavelength Period Frequency The loudness of sound is more closely related to its
o osltwar 5 iloa il 57
. i = J ) " ‘& v Which type _c.L “CIU! a.,n(_, J(;"//J; 1
Uprightand | Uprightand | Inverted and | Inverted and
Wirtial e Whitual ] of image is formed by a convex lens on a screen?
-
':f.'L_U%fu/ &/.’-’—_L'/Z_y‘v&f SendifS | ekl Ay 98
U/ U/ o Pl Iy ; .
. P2 U.Yd/d ! Licetric ficld lines
Cross vach other Cross cach otlier
in the region of inthe région of | Nevercross cuch | Always cross
weak field
oAk el | swongfid ) ether N cachother N o ]
S TS She- iUl d 2§ A1V SRl |9
s 6OW Ly 30W s 14.5 W Sy A8 W What is the power rating ofa lamp ch/ J/JL(fl
o connected to a 12 V source when it carrics 2.5 A?
y o p ’J i " - T -
L,th)’t;(d,,uFf‘ JEE A E oo REP PRI /Aaf"/u;zhr::’ 10
. o) o
JU’K{UJ/-? JU"JU’— etz e bl The step up transformer
s d-"'#/ e d"“(/ lherenses the | Inerensens the
flus fess tlus more i . S
tarns in the (s in (he mput voltage | outpul current
seeondary e
coil primuatry _
ST Lnmlaa=t | Zn=lolA=0 ] =707 BalA it Toml of X=A.BJ1 | 11
None ofthese | A=t and B=1 A=0and B=1 | Awnd Bare "0 | X=A.B then X=1 when
e /‘;:’r /i -ty d&LJL"J .___)_.E:/:Lg/}"?é_.u‘é(_/‘:;,u:utjg/p‘ 12
Internet Computer I'cacher Book tirom which of the following can get *UJGLL’
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Answer briefly any Five parts from the followings.  5%2=10 -g,{/4/>'s>!,l:2/'3£llfl é&a(j:{c’uﬁ‘)’_,@u ..2/."Uff
SO e s Lips s 2Dy se (D)

Differentiate between Mechanical wives and l"‘lcc(ronngmlic Waves.

Describe how the sound is produced? ~& d)’u/C/’/ S fJb(m) Define restoring Force. -L[/»&f}j‘JJ/}ju"{/ G
Caleulate the frequency of sound wave ol'specd siv=340 st ,,ff‘.“u_‘/-‘rjl"‘tf.ﬁ.‘/'Jl'il/ (iv)

340 ms ™ and wavelength 0.5 m. A =05

Differentiate between Principal Axis und Principal focus. ~L//(J(/L)/LJVJJ£J )’J//JJ‘/ | -. , (v)

What is mirror formula? Write its equation. - JL/();'("' Lf.b’/ o i)

Define centre of curvature of mirror, A7) € d/ ST AL, Gid)

Differentiate between concave mirror and convex mirror. ~L£/C)_Lﬁb’/u~l/'1) LJ/L/w /Jl//)f"/ (viii)
Answer bricfly any Five parts from thc ﬁ)llowmpq 5%x2=10 u(/ﬂ//ju-,yz,ﬁ,i:.'zrég.:,,df_-—..u.‘.J,;zy,) _jﬁ'}dl!"
Write truth luble for NOIL gate. _..,_,J;/ J J«/WW’NOR Gi) State Chm'’s law? /’rul, uﬂli‘b’fﬂ )
& Rl U A R n s 2 G
d&p;l&;;q/JJ/’;J’“ Gv)
State lenz's law, -1 2=l o K/J (v)
g XQJ})ZTE_/(JL”MJA%’QUVQ Wy (i)
in solenoid. v ..g//‘?dr“ibﬂ,i/

..&.,l/ﬂ/yl,l)»/(/mlf //\_/l:(/JJ;‘ 'u/u//lﬂ (vii)
Bxplain dipital clectronics with the help of its two uses. :_:_:»L.n/madt'“!»JJf: (viii)
Answer briefly any Five parts from the followings. 5x%2=10 _J// 7’.._«1, j’/‘" .{:!]ff’;Lc,df:,u"J;bu Jl/"dr/

Write the names of two diclectric, g[/4f((. uf/‘gldb)) (i) Define Llectrostatic Induction .2 \.J’/JJJ »lh_ﬁ/:/gl (i)
-y uw*‘c_ ek G
e u/(fg‘/ﬂul/»l/»/; Gv)
Write down the name of four web BrowsersUe (‘L/_/_/u-lfuub (vi) Write down two services of Internet., diovl.}:u(fwff(v)
vq///é—)dl/u_’]/ J/.._,L/L‘l (vii)
IS F el AT ks (i)

Write cquation fur cquivalent resistince for parallel cambination of iesistors.

Define potential dilference and write its unit.
Explainripht hand grip rale o find the dicection of mapnetic field

Write down Boolean expression and circuit diagram for OR opcration.

What is the unit of capacitance? Define it.

Differentiate between Hardware and Software.

Define Atomic Number with cxample.

Write two uses of Radio isotopes.

Note: Attempt any Two Questions. 9%2=18 _u’f/ful,li’ﬁuwruc_.d; HOY
wd{Qch.ulyl/‘/c;qul}J»:L/Ku’l u’f_ﬂ/)u»;bqfu 1(a) -5
Define Intensity of sound. What is its relation with Loudness of Sound, Explain it.
(IpF = 1078 F) By /by Jitmit bz e b ove s by o fi et of £ UE o Jﬂ,ll Atk (o)
Three capacitors with capacitances of 3.0uF,4.0pF and 5.6uF arc arranged in series combination to a be altery of Gv whuc > IpF =107 SF Find.
The total capacitance ol series combination J u (le/d/u’// )

The voltape across cach cup: 1cxlmo 313 }’h__/’ 2D The quantity ol charpe across cach L.lde luul»fg,((//l.v// -5 Gi)

Deline NAND gate. Fixplain its use in house s: ety alarm or JL‘V’I c !u.((/[ll/b/) IS _,,JJ/_»' "J f ~ ()6
burghur alurm, f WJU(
Anobject 30 em tall is located 10.5 ¢cm from a concave mirror (_,(J//(;;“_J’/_:.(:.«L*'Gsf.,lo Semeny oy ( b’)l30 cmwfl ®)

VJC—UL{L 17716 cm af‘K‘U’)’
Whatis nuclear fission? Explain with the help ofan example, Srerle s urdl/“c:.,)!/U c:,J /’ 7 Gy

Iftwo resistors of 6 K€Y and 4 XQ are connected in series S bbre 3ty pe 810 \/u/uzizi il K.Qf o
across a 10V battery then find the cquivalent resistance of the
‘——(7L‘/Lf/ L}/u,‘l ’l‘_/.u” u/'/vlL/ ULS Loe Jv -

combination and potential difference across cach ol the

resistances.
1024 - 1021aLr - 55000

with focal length 16 em. Where is the image located?
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